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RIRER X R 43 6,508,670
RIRED BRRX 7 6,945,997
RIRER =HX 47 57,450,653
RIRED ITRRX 82 22,469,180
RIRER g[8 526 255,605,404
RIRED BERX 134 22,326,984
RIRER KHERX 475 224,905,855
RIRED HEARX 458 149,638,547
RIRER EARX 23 7,939,090
RIRED hEX 97 106,416,247
RIRER FiIiX 146 89,542,591
RIRED Z2BKX 114 44,459,656
BRI #R |43 27 16,925,109
RIRED FINEX 23 24,130,169
RIRER RIERX 55 17,620,809




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

&

S

HB TR BT 4 (5 +Be) Wt BB
e Ty
RIRED BERX 428 252,115,127
BRI #R BIIX 60 71,390,424
RIRED B 14 68,214,011
RIRER IR 72 5,236,894
RIRED INEFTH 16 264,110,292
RIRER )T 15 70,642,766
RIRED HEEFm 191 17,123,178
RIRER =fEm 79 41,736,414
RIRED =i Ll 215 2,527,662
RIRER FEepmh 31 68,126,630
RIRED RE™ 17 24,641,806
RIRER AT 106 156,336,479
RIRED ETET™ 96 46,930,960
RIRER INEFHTH 114 17,700,193
RIRED INET 16 15,488,747
RIRED BEmHh 748 7,267,492
RIRED RATIUTH 86 7,945,794
RIRER EonFmh 121 46,769,242
RIRED Eaiimh 10 3,470,324
RIRER fBE™ 21 1,401,503
RIRED 7= pan ] 419 1,009,386
RIRER BRKF0H 501 16,767,859
RIRED JE#A™ 27 3,799,390
RIRER RABXK™ 19 5,609,116
RIRED HEAT U™ 22 26,533,002
RIRER ZE™h 35 19,565,603
RIRED kA 16 5,844,310
RIRER Pt 6 150,902




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

S

HB TR BT 4 it ) Wt BB
e Ty

RIRED HEDHEFHM 21 1,595,403

RIRER FRRET 127 10,967,549

RIRED B 22 R 48 1,718,872

BRI AR Ao HET 0 0
RIRED IntEET 6 2,901,862

RIRER K SHT 2 3,374,643

RIRED J\3CET 0 0
RIRER EIRA 4 61,261

BRI AR F S+ 0 0
RIRER =T 1 43,740
BRI AR RS 0 0
BRI AR =EH 0 0
BRI AR A=) 0 0
BRI AR HErE&F 0 0
RIRED INERF 0 0
rEENE HE™ 1,129 283,989,535
ARIINE JIE T 76 32,206,230
AR MERET 50 5,727,584
ARIINE ZEE™ 49 3,486,991
rEENE FiIR™ 35 6,418,424
ARIINE 5 -1l 19 5,968,019
rEENE BRR™ 38 16,503,585
rHEN /NEIRET 21 1,102,171
AR E 2o 7] 23 4,554,000
BN SEFh 9 6,759,975
rEENE =Eh 10 515,104
r:EINN REH 7 1,686,760
AR IEW N ] 51 6,307,411
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SHTEI10824BIRTE

o &t
HB TR BT 4 it ) Wt BB

e Ty
rEINN KF0 8 1,090,046
AR REES 34 409,300
rEINN mEA™ 8 4,510,855
rEENE FE A T 57 4,728,410
rHEJN AT 4 70,277
AR ™ 154 1,266,197
ARIINE LT 7 1,458,861
rEENE % )I[/T 4 2,265,121
HME)R KT T 9 732,213
rEENE —=HET 3 119,685
ARIINE o - ET 5 253,850
rEENE KFHHET 1 52,000
BN ¥ EHET 2 564,516
rEENE ITE[d:) 3 233,280
HME)R Bl B HT 3 16,124
rEENE FEARET 0 0
BN EERHET 1 45,792
rEENE i ] [ BT 3 44,720
ARIINE = I HT 15 199,036
rEENE A LIES] 1 51,840
HaR Hiath 910 145,312,408
haRR KRE™ 16 72,935,217
HaR =& 278 3,445,308
haRR & TH 10 32,412,858
HaR AT 91 7,099,921
haRR INFATH 492 2,852,476
HaR Bzt 0 0
haRR + BT 139 6,637,845




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

~s G
HB TR BT 4 it ) Wt BB
L Ty

HaR Rt 11 750,536
haRR ¥Em 169 1,709,329
HaR Heth 19 8,630,030
haRR Al 38 2,548,207
HaR e 13 3,974,925
haRR HR™ 15 1,437,322
HaR ok 00 18 9,249,969
haRR & Frh 23 1,612,372
HaR fEiE™ 47 1,838,393
haRR fiam 104 1,717,205
Time mfam 9 7,792,392
haRR feAT™ 125 4,459,112
HaR EREEHT 23 289,467
haRR SRE AT 117 2,621,984
HaR H AT 18 553,748
haRR B &5 HT 75 2,807,580
HaR HH U ET 227 690,465
haRR i BT 24 3,119,080
Time T 19 983,042
haRR pUPRES) 59 547,156
haRR MRS 2 265,648
Time FEEHBM 0 0
EILE E LT 37 14,217,810
EILE = e T 62 2,579,958
EILE miEm 14 1,712,520
=i KR 13 4,726,499
EILE icdllng 7 421,924
EILE EiH 37 17,884,085




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

S

HERR AETH £ it ) it 235)
L T
EILE Wpig 28 2,001,040
EILE INKERT 88 1,391,845
EILE FAfR T 6 551361
EILE §tKh 23 8,338,185
EILE FHEHt 0 0
EILE T ET 15 411,347
EILE ST LLIET 2 1,390,900
EILE AEHT 643600
EILE B B ET 139695
Alg &R 32 16300908
AR tEmH 17 5410189
AlE INRTH 21 5936538
BIIE bR ST 12 12096670
aINE ERimth 1 70200
AR MmE 148 2466133
AINE FIVET 4 310670
BINE MESTH 4 725540
AIINE =[G 46 23981240
HINE L] 174 10457018
AlE Frmmh 12 682696
AR JIACET 3 211000
aINE JENBET 12 616748
HINE PR T 17 2063766
AIIE Pl 12 60000
AR = 3E 5 /KHET 2 35800
AR theE B HT 66 324460
AR 7 K ET 9 161,346
AIIE BEEHT 7 730,330




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

~s G
TR AETH £ (%Eﬁ.};&i‘%) R
(M)

fRHFR wHT 66 8,236,230
Rt R HE™ 49 13,459,313
fRHFR INET 47 3,368,950
BHE K 61 1,897,524
fRHFR fgsLUTh 19 1,481,386
Rt R f5iImh 59 5,119,147
fBHE HHoh 26 2,420,676
Rt R FERTTH 41 26,268,473
fBHE e 26 57,034,836
Rt R 7K 3 ET 8 1,154,564
fBHE sth FH BT 5 284,734
Rt R A R AT HT 10 934,104
fBHE B RITET 56 1,984,611
Rt R 5EHET 53 1,690,377
fBHE (=) 8 3,632,326
Rt R BEE 5 5,652,588
fBHE & FRET 14 4,101,000
INFE B fFh 136 5,550,080
IR ELEHHE™ 7 1,426,426
T R 17 2,015,580
IEE & h 2 260,200
INFE XA 72 347,340
IR ElFTH 12 481,325
INFE BE7IVTRH 6 1,169,351
IR | &3] 141 1,802,862
INFE e 3 2,300,103
IR V4] 8 779,551
IR LEEHIRH 33 3,489,950




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

o A&t
HB TR BT 4 it ) Wt BB

L T
IR BN T 13 1,395,645
INFE R 34 453,354
IR 1| =48R ET 12 3,046,310
INFE =R 0 0
IR 5 JEHT 2 32,280
INFE e SR ET 6 41,200
IR =TI 10 196,910
IR AR FOMT 1 1,566,830
IR SR 2 110,538
INFE Pa 4 ET 6 64,800
IR BEH 2 598,812
INFE LU A A 2 57,400
IR SR AT 2 60,612
INFE = i O ET 2 20,000
IR INEF 0 0
TR FHR LA 0 0
REFER K™ 160 11,894,565
REHER AN 193 5,175,396
REHR LEHM 71 5,019,373
RHFR e & 13 1,678,382
REHR fRET™ 39 3,865,986
REHER MEATH 849 2,252,572
REHR Arth 9 3,597,408
EHE INGETH 27 5,230,161
REHR FAh 7 350,100
RHFER g iR h 21 1,565,395
REHR hEFTh 13 2,197,844
EHE KHETTH 8 490,239




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

S

HB TR BT 4 it ) Wt BB
L T
REHR gL 50 1,668,398
EHE EZ00 ] 34 1,943,111
REFR IBR™ 13 1,445,147
EHE fEA™ 317 9,168,810
REFR ol 186 2,464,694
RHE ™ 110 1,217,104
REFE ZEHH 56 1,667,193
REHER 1N HT 12 636,565
REHR &£ AFEHT 9 1,961,786
EHE NN _E# 13 294,000
REHR IR &S] 27 1,775,788
RHFR R RN 12 322,920
REFER EAERF 0 0
REHER BX HIRHET 12 2,597,499
REFER {EN{X R ET 8 1,775,830
REHER SLFHET 110 3,163,227
REFER R FOET 18 1,140,384
EHE BFARH 50 1,432,126
REHR T &R & ET 12 66,984
EHE ELTRHET 91 2,591,990
REHR R+ 1 764,917
EHE fREFHT 25 306,220
REFER | b 14 3,418,236
RHFER B ST 29 474,192
REFER r E w4t 14 1,098,240
EHE ==JIES) 9 47,700
REHR = B 66 890,520
REHER ¥ BT 0 0




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

S

HB TR BT 4 it ) Wt BB
L T
REFR 1= PR ET 51 434,256
REHER BRI e ET 12 31,448
REHR BAI 28 #4 48 465,310
EHE A 1 84,240
REHR P 8 111,327
REHER T &S 12 995,800
REFER SEARAT 0 0
RHFR KEEF 4 11,232
REFE REM 4 68,473
EHE BARH 41 211,103
REHR SR 3 1,483,476
RHFR KEH 10 219,368
REHR ik /N ] 10 1,394,580
RHE A & HT 31 266,175
REHR RS HT 72 776,565
RHFR PN 4 705,340
REHR EiEHM 19 496,470
RHFR REHR 10 294,331
REFER FRAEAT 6 38,474
EHE A R A 1 12,492
REHR L2 44 11 464,550
EHE A 6 243,000
REHR ALt 25 630,640
REHER th FH BT 49 497,340
REFER NIIES 62 86,800
EHE B EH 5 356,680
REHR INGFT 20 341,715
EHE Y 355 BT 15 186,346




EREI0EE HETFRICETAEZEEMRFTRBRFHODYAF DR EEE
SHMITEI0A248 B

S

HB TR BT 4 it ) Wt BB
L Ty
REFR /1NFr e T 80 5,208,348
EHE = A 24 1,672,600
REHR L1/ R ET 6 110,000
RHFR RKEEHR 76 2,262,780
REFE FIRRRF 0 0
RHFR = = AT 17 10,407,376
REHR B 4fe] BT 16 4,102,464
REHER INTFT 13 84,484
REHR KA 70 101,982
Iz BB IR Iz B2 T 27 27,033,438
Iz B2 18 KiEm 24 3,839,865
Iz B2 18 =T 47 23,707,953
Iz B2 18 ZAaR™M 216 8,849,221
Iz B2 18 BEh 35 1,559,592
Iz B2 18 BiE)I T 10 17,236,554
Iz BB IR -1l 3 360,000
Iz B2 18 IR 100 2,839,122
Iz B2 18 PE™ 134 316,190
AR BT 21 3,320,384
Iz B2 18 EiEmET 13 2,258,254
Iz B2 18 T 7 4,467,919
Iz B I £i5IR™ 5 1,565,780
Iz B2 18 AR 97 2,373,210
Iz BB IR Iy 4 675,972
Iz B2 18 Imfgm 139 1,809,454
Iz BB IR BT 33 4,945,307
Iz B2 18 ARETH 18 267,200
Iz B2 18 L 79 1,521,159
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&

S

HB TR BT 4 (5 +Be) Wt BB
e Ty
Iz B2 18 Tam 14 835,173
Iz BB IR miEh 57 4,637,776
Iz B2 18 ISt e ET 3 34,798
Iz BB IR g VN 49 138,024
Iz B2 18 EEm 6 114,430
Iz B2 18 = FHHET 9 77,400
Iz B2 18 B8 /7 [ HT 2 26,352
Iz B2 18 6 = HT 1 46,500
Iz B2 18 B 2 R HET 3 217,600
Iz BB IR = J\HT 31 469,800
Iz B2 18 5 3E I ET 1 184,680
Iz BB IR K EFHET 3 233,150
Iz B2 18 jth EHET 5,134,670
Iz BB IR 4t 5 BT 26 1,483,610
Iz B2 18 IR 4T 19,800
Iz B2 18 = INET 101,000
Iz B2 18 J1I; 0BT 1,102,960
Iz BB IR +5RHET 212,832
Iz B2 18 J\EEHT 14 816,252
Iz B2 18 =PHL 41 714,090
Iz B2 18 E4=lIks] 2 295,000
Iz BB IR {0 =5 BT 37 257,400
Iz B2 18 =PIES 0 0
FHfE R FRRE™ 281 27,654,854
FHfE IR ETH 618 55,059,399
FHfE R AE™ 23 12,283,676
7R IR #immt 6 11,836,160
FHfE R =5t 25 7,437,002




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

~s G
HB TR BT 4 it ) Wt BB
L T

FHfE IR ELT=EmH 25 2,921,986
FHfE R RE™ 20 965,857
FHfE IR EME™ 28 23,109,727
FHfE R EL 62 11,014,500
7R R BT 47 4,741,364
FHfE R iR 159 12,452,959
FHfE IR BT 25 9,307,657
FHfE R R 273 7,421,797
FHfE IR {HBy 35 39 18,815,508
FHfE R KHF™H 65 2,019,729
FHfE IR THM 13 3,063,542
FHfE R EE T 12 1,828,488
FHfE IR pilrich o} 7 4,328,899
FHfE R FE™ 213 3,440,266
7R R {EN AT T 12 4,491,872
FHfE R I 39 2,072,541
FHfE IR FEOEH 9 2,556,974
FHfE R Sl ] 11 783,904
FHfE IR RAFEHT 7 338,640
FHfE R sa] ;2 ET 2 280,824
FHfE IR A {7 = HT 9 1,491,051
FHfE R FA U T 1 211,500
FHfE IR 7o {F = /T 35 169,828
FHfE R K] e T 884,890
FHfE IR SR IKET 1,193,112
FHfE R =R HET 27 4,059,066
FHfE IR J]N LI BT 21 315,359
FHfE R = HHET 2 1,829,310




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

o A&t
HB TR BT 4 it ) Wt BB

L T
FHE 2 NEicEN:) 3 115,520
FHfE R FRET 6 301,108
ZHE 2o EM 1,483 404,467,192
EHE 21 49 28,308,234
ZHE feE] W5 18 118,021,778
EHE —=EmH 80 16,101,057
EHR AETh 18 990,730
ZHE FHEM 15 12,199,530
ZHE EZBHH 18 9,259,101
ZHE 2l 375 14,195,812
BHIE = 4=} 2 576,263
IR =T 13 4,125,770
ZHE M & 28 2,272,040
ZHE SHMH 90 87,529,487
RN BT 24 16,161,315
ZHE FE™ 15 13,566,629
ZHE SEART 39 2,609,352
ZHE At 3 4,131,540
RN =il 7 1,990,708
ZHE ANEIN ] 12 597,763
ZHE INBLTH 37 12,852,622
ZHE FRR ™ 9 503,700
RN i 4 2,341,370
R ¥ 15 20,680,366
EHE KiF 55 94,495,601
ZHE mMmEh 109 2,354,955
ZHE y IV 7] 8 3,359,398
ZHE EsRIETH 61 9,219,423




TRRI0EE HETHICHE T HEFTEMFBESRFHODYMRFOHRHERE

SHTEI10824BIRTE

o A&t
HB TR BT 4 it ) Wt BB

L T
RN =] 25 1,163,528
IR r=p-1iil 25 2,765,794
ZHE S 8™ 1 2,209,200
ZHE HiEm 20 2,042,100
ZHE HIR™H 7 2,625,240
ZHE ZA™h 6 386,978
ZHE SRR 1 1,296
ZHE dtaEE™ 9 12,404,028
RN MRE T 4 510,067
ZHE HLLT 11 67,940
RN HEM 0 0
EHE RAFmH 44 1,924,634
ZHE BERET 6,448 2,631,607
ZHE 2 | LIET 4 161,560
ZHE X OHET 45 6,354,309
ZHE FRZRHET 2 88,000
RN KIGHT 0 0
ZHE 22 THT 3 5,561,784
ZHE e S 41 1 21,000
ZHE BAT A LE BT 1 4,220
ZHE B HET 7 658,408
ZHE A &0 % HT 76 3,294,230
ZHE 3R HT 13 1,465,150
ZHE 2 HT 21 1,107,102
ZHE SEFHHET 14 423,027
R 5% ZEHT 0 0
RN B HT 0
R SR
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SHTEI10824BIRTE

S

)
BT £ (%ﬂ%) Wt BB
L T
=4 ] 16 5,565,142
=k 42 5,483,810
REH 58 9,206,763
N 39 2,544,600
Z4th 35 629,435
fnEeT™ 39 3,689,224
#5km™ 2 515,520
EEmH 10 672,460
gl 23 5,232,757
5P 3 6,331,572
REEryTh 10 2,179,654
LVEARTH 68 3,757,110
BEM 1 270,300
FE™ 79 1,975,990
K W ET 6 973,100
REHT 2 2,018,352
Eatad: 6 3,646,038
FH B HET 2 16,400
J1I % ET 10 1,837,748
% ST 1 331,400
BA FNHET 69 1,955,360
N 11 336,140
F L ET 70 527,960
&= HT 1 607,748
K#c BT 0 0
A {4 ET 13 377,178
#CACET 11 4,261,167
{E0EHT 7 1,833,308
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HERR AETH £ it ) it 235)

L T
=ER fCEET 3 1,572,358
HBEER KiEM 69 30,450,443
HBEE EiRmH 8 6,115,237
HBEER RIE™ 44 6,740,903
HEER LT\ & 41 5,888,074
HEE BEEmH 10 3,167,907
HEER SEIUT 11 2,069,933
HBEER EEM 3 625,266
HEE RE™M 69 8,538,453
BEER B th 11 1,430,782
HBEE AmE T 24 3,485,420
BEER =5h 51 5212,118
HBEE BRI 137 4,716,155
HEE KIET 15 1,233,745
HBEER B EFHET 49 1,970,404
HEER =] 59 1,671,959
HEE B ET 7 976,500
HEER 22 SR AT 1 70,416
HBEER B RHET 0 0
HBEE ZEHT 10 1618456
RHERRF Rk 672 286484084
RAERKF fBanlth 18 24738892
RERAT 30 19 26486972
RAERKF fEER T 60 4085771
RHERRF Fam 57 12068397
RAERKF I==417] 8 1053622
RHERRF &Rt 31 5476015
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S

AR BT £ st 57 it 235)
L T
RAERKF W& T 148 7946415
RHERRF mBETH 16 1826668
RAERKF RS 22 4692460
RHERRF J\ & 7 2743086
RAERKF RHEBH 25 1362399
RHERRF RFH&E™ 3 555100
RAERKF Rl 44 7420464
RHERRF KENH 13 12953265
RAERKF K L i BT 31 729665
RHERRF AN LI BT 6 275704
RAERKF FFHT 13 67650
RHERRF A H AT 21 652320
RAERKF FEET 1 20520
RHERRF FOSRET 1 10445
RAERKF FEEEET 12 7449699
RHERRF i Ll A 0 0
RAERKF RAHRET 3 2667321
RHERRF 5 5 Er HT 11 215,244
RAERKF RRHET 59 6,298,946
KPR AT KB 88 161,191,705
KBR AT ] 16 57,130,944
KPR AT =i 27 7,687,515
KBR T E ONUT ] 9 11,835,544
KPR AT Zrhth 31 32,123,218
KBRKF MA™ 15 1,709,668
KPR AT FFIATT 10 38,108,577
KBR T thE™ 10 1,346,603
KPR AT WHE™ 28 61,248,245
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HB TR BT 4 it ) Wt BB
L T
KBR T RKEN 7 3,354,405
KPR AT BiIxmh 19 2,624,259
KBR T SFOT™ 16 286,000
KPR AT RATH 16 13,417,830
KBR T INETH 23 9,964,925
KPR AT RIEFH™ 7 415,221
KBRKF = B 40 1,858,101
KPR AT EEIIT 3 227,760
KBR AT AREET 6 1,908,009
KPR AT N 42 38,052,256
KBR AT KEM 25 11,252,578
KPR AT R 5 1,135,680
KBRKF Em 1,280 230,360,223
KPR AT =) E ] 2 242,500
KBR AT PR EFH 9 2,217,332
KPR AT FAE™ 20 4,741,254
KBR AT & 14 14,689,972
KPR AT =Aamh 4 109,800
KBR AT BT 10 572,167
KPR AT SREAT™ 1 64,800
KBRKF P s B 100 3,831,182
KPR AT REFTH 119 1,726,524
KBR T KBREEILT 9 2,191,949
KPR AT PrEaTh 70 807,216
KBR AT S AHT 23 1,394,261
KPR AT £ e 12 483,392
KBRKF REZAHT 625 513,890
KPR AT 5 [E) BT 4 354,000
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AN E
HB TR BT 4 it ) Wt BB
L T
KBRKF Ag BT 9 663,640
KPR AT H R ET 4 345,564
KBR T \EH EET 1 27,970
KPR AT ARFHT 5 293,196
KBR T SA] T 5 172,500
KPR AT F B IR 44 1 242,000
EER AR 425 582,428,504
EEER YRR TH 233 36,535,193
EER =0 8 15,926,237
EER BRfR™ 6 11,859,336
EER e 74 156,730,483
EEER NATH 21 469,500
EER FEm 19 9,601,973
EEER RFth 71 19,947,499
EER HE™ 4 2,965,300
EEER 2™ 41 3,153,367
EER meE | 32 1,215,518
EEER REE™ 18 1,724,876
EER i) 9 1,784,993
EER FIEM 35 15,965,372
EER =K 4 1,573,876
EEER = hbTh 28 178,978
EER ki 67 1,680,068
EEER INEFTH 18 748,237
EER =Mt 17 5,006,785
EER ykich) 36 1,420,685
EEER FHR&E LT 18 7,168,700
EER BRXH 3 13,105,291
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EER FHE™ 15 3,048,402
EEER moHHLTH 3 1,076,000
EER sk 15,170,436
EEER R T 53 1,220,888
EER REM 30 2,706,864
EER R 23 938,455
EER f=2dDmH 6 1,759,668
EER ¥&44 )| BT 14 8,006,362
EER L] 23 213,100
EEER Fig SEHT 16 1,316,041
EER 1R EEET 16 261438
EEER e 5m] ET 2 148,800
EER I ET 23 213,100
EEER e I35 BT 3 458,590
EER ARFHT 5 3,301,280
EER |+ ERET 64,000
EER & FAET 31 1,090,515
EEER & SEHT 1 855,590
EER i SR ET 0 0
ZRE =R 31 7,573,651
ZRE KFEHE™ 7 19,836,075
Z=BE RFERLLTH 10 8,395,505
Z=RE KEth 11 637,856
ZRE R 10 223,096
ZRE e 3 2,193,250
ZRE HiEH 57 7,612,482
Z=RE {HFT™ 2 1,453,057
ZRE 4 EaTh 140 3,254,770
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g Ty
ZRE Fem 5 514,408
ZRE BEh 4 1,395,960
ZRE Fpeh 7 310,000
ZRE LR A 12 93,054
ZRE S EET 3 310,055
ZRE = $ERHT 7 2,487,592
ZRE BEnE BT 8 121,658
ZRE REEET 10 160,840
ZRE it 2 6,000
ZRE =0T 0 0
ZRE SIEEN) 1 48,600
ZRE =) 0 0
ZRE {EAL AT 0 0
ZRE = B ET 1 37,800
ZRE BH A &4t 0 0
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